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BE THE NEXT GENIUS

HINDI Class 7 Sample Questions:

English:

1.Choose one suitable word for each blank.
Someone who interprets is an .
(A) interpretist (B) interpreter (C) interprecian (D) interpretor

2.Choose the correct option.
Amtul : Let’s go out for lunch.

Richa: OK. where?

(A) And (B) But (C) So (D) Or
3.After he -------------—-- the roof ------------- [ leave , collapse ]

(A) left ,collapsed (B) has left , collapsed

(C) left , had collapsed (D) had left, collapsed

4.Choose one sentence to complete the dialogue.

Sentence 1. God wanted the people He had created to have a happy life.
Sentence 2. :

Sentence 3. Water, air and sunlight were, therefore, given in abundance.

(A) That's why He decided to bless the earth with riches
(B) People had to live with water, air, and sun

(C) Earth could have them in abundance

(D) Therefore, He created the earth

5.They to London next year . [Choose the best word / phrase to
complete the sentence]



(A) went (B) go (C) had gone (D) are going

IoIg 3R JEIdr:

6.feT a0 [T F gat $r gEar [ieT
(A)15

(B)12

(C)13

(D)14

7. T G1fhal TIA H, Ycdh 8 H T 1 PR Tl g | 3T olic H fohdaiT ATerd N ool 872
(A) 1.25% (B) 7% (C) 9% (D) 12.5%

8.cfYeT el hY 31 T 9T 50 a¥ &1 5 Y e SeTehl 37T AT 9T 4T GIaTT?

(A) 65 (B) 55 (C) 150 (D) 21

9.3x — 2y UTd A o folT —5x + 3y H FIT SAIST AT AT T?

(A) 5x—4y (B) 8 x—5y (C) -8x—4y (D)2x—10y
1o.m1%?rafr60mqteoﬁﬁa:rmw§aﬂqu%m g
(A) 1% (B) 0.1% (C) 10% (D) 1.1%
ICEilGE

11. 1TV 7 STl & Tt T TiohaT 1 HET SATAT & |

(A) aTIdT eaqeT (B) 3aTIET Qa3

(C) PHFHHIT LTI ) EUREIEEGH

12 q15Teen TS CETFHISE & ®9 & S T o, TATTaT H Heg Hdl ¢, 6 ol T2 T
UhATH T &, T & YeITdehd H Hee il & AR Irerst # 81 HAee dm & | 7 1T &l
Thd ¢ o g asfes vfas #gl Aerar §?

(A) BT (B) @e< ®el (C) UThifeh 3TFdl (D) #e 71 TH




13. Aol # TF o & fAT gl 3i97 814 €, S Jg & ury [Fud gl
gl
(A)hths (B)aATeh (C)ca=r (D)3retsT

14U U8 ThTATA 39T A 31T AT & | TgT TS@ram 3731 i A1 A 59 91fd & v gag &
faeesr g 1 amh 872

(A) S i (B) &

(=) 0
Time Time

3 3

T B

(C) & (D) &

(@] s
Time Time

159737 HIST &I 3UANT &3, dheh, Feblof, tr%?Taﬂqud FS Tollel & T fohar S B
aﬁmmwmﬂmw%’i
(A) AT tdiiee (B)AIf3UH sgshRae

(C) |TSTH Hethe (D) 318 & IS ot oTEt

ATATTSR QT T AT AT

16. QIT-T-geTel, fo A 319=l AT 7 AlEIe-U-Solrel o w1 @ 8fY SiTeAT Sirr T, 1582 #H Harer
qHT SR ST T Uk FATT €3 27| SIeT-U-3eeY & ded SATS e,
fq ud, sEaH, qRET e, dicy gd 3R I g7 § fav 710 ¥ | F-U-SATET ATH FH
anfegan 31T g 'é’%aTEFr'EJ?fI‘IWHdm THTE T TT I ToTlel ST T3 T TATIT .

(A)STETeR (B) 2mgsigt (C)smsR (D) 3/@hsX
17 92 & HA Tefell Il §
(A) TeeT (B) Fcer

(C) R (D) oTH & IS oTEt




18. AFATA@AT # ¥ frg AT AfARARY I 9ITaR0T 9T AFRIcHS THIT STeleT aTell ST
ST HhaT &7
(A) AT Hraes  (B) ST Bolel (C) U8 3T (D) 34 ¥ FIS AT

19991 #H Mg A Tgot AR YU FHN 9 90 § g wig & wsgufa
GaRT I & Fdfed ANReS AR 7 FFA, 35 H1d 36 g ofele
AT 3o & FeATfeId fohar T &1

(AR oAk
(B)SH sT$S+T
(C)gHT HshleT.
(D)Usatell HATehel

20.fRver o1 AR HfAfATa 1 31s¥er 2010 & 9] g3 39 HAATH & Tgd 6-14 IT B
Y & Jdh S<d

(A) 3T vq foy: Qe TRTS RIGT YTt T Sl

(B) Thel STt o TIT STEd &1 feha SiTwam

(C) 3% IRAR & AT TaTed il 3R FUS 3T aIT ST

(D) 3HHT AT o TR TR fohalt fagel Tohet & yaer fem sream|

Computer

21.3-Hel HT AT &

(NEEEIGER:EI (B)fdege dewr
(C)Ife A (D) g=iTd AT

22 .uoce f3arsd & UfCorshelel TR Sl gl SITdT &
(A) 3TSC8 (B) 3TaTeT Tl (C)vg TR (D) s vy



23 TS TIFCATR # ATFAS &) Tl & .
(A) T[oTareT (B) IR\ (C)sAH A HIS AL (D)HaT

Answers:
1B 2B 3A 4A 5D 6D 7D 8A 9B 10A 11D 12B 13D
14.A 15B 16.D 17.A 18A 19.C 20.A 21.A 22.C 23B



